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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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(Long Answer Type Questions) / (€78 IT<II T2
Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.
Learners are required to answer two (02) questions

only.
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1. Describe the structure and function of Mitochondria.
HZIDOSIT BT AT Td GRIAR B ARAT DIV |
2. What is RNA ? Describe the structure and function of
different kinds of RNA.
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3. State and explain Mendel’s laws.
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4. Describe the functions, types and structure of nucleic
acids.
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(Short Answer Type Questions) / (g STRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
questions of four (04) marks each. Learners are
required to answer four (04) questions only.
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1. Diagrammatically explain process of Meiosis.
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2. Differentiate between different forms of DNA.
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3. What is genetic code ? Explain its different features.
SHfCd dIe T & ° UG A= fagvdmel & aw o
g |

4. Differentiate between mitotic and meiotic cell division.
Agiicd IR fRifed BT oM & N o 3R
g |

5. Explain the structure and function of Lysosome and
Centriole.
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6. What is nucleus ? Explain its structure and function.
dad T 0 TIHl AT Ud bR B ARl
DI |

7. What are Golgi bodies ? Explain its function.
ool IS @M1 € ? g9 Bl & aR H I |
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Differentiate  between animal and plant cell
diagrammatically.
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Section-C / ¥Uvs—1T
(Objective Type Questions) / (@IS J)

Note : Section ‘C’ contains ten (10) objective type

questions of half (%) mark each. All the questions of
this Section are compulsory.

gus T ¥ g9 (10) TRS WA [ W 2| IS
v & v amn () sie FuiRa 21 w1 @ @
ot oo afard € |

Choose the correct alternative :
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1.

The type of sugar in DNA is :
(@) atriose

(b) pentose

(c) tetrose

(d) hexose
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The length of one turn of DNA is :
(@ 34A

(b) 34A

(c) 20A

(d) 3.04A

S U T H Uh o B WS B B

(@) 34A

@ 34A

(@) 20A

() 3.04A

A nucleoside is composed of :

(@) abase +asugar

(b) abase + asugar + phosphate
(c) abase + phosphate

(d) None of these
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The term ER was coined by :

(@) Reinert

(b) Porter

(c) Pomaret
(d) Johnson
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Cell theory was proposed by :
(a) Beadle and Tautam

(b) Robert Hooke

(c) Sheilden and Shwann
(d) Leeuwenhoek
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Golgi apparatus is absent in :

(@) Higher plants

(b) Yeast

(c) Bacteria and blue green algae
(d) None of these
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Ribose are made of :

(@ RNAonly

(b) RNA and Protein

(c) RNA, DNA and Protein

(d) Nucleic acid, Protein and Lipid
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Who named mitochondria ?

(@) Kalliker

(b) Fleming

(c) Altman

(d) Benda
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Wobble hypothesis was proposed by :
(@ Watson

(b) Crick

(c) Nerenberg

(d) Watson and Crick
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Gene pool is :
(@) Genotype of individual of a population
(b) Different genes of all individuals of a species
(c) Gene of a genome
(d) All of the above
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